

ON THE DUAL OF BURCH'S INEQUALITY AND THE WIDTH OF CERTAIN GRADED ARTINIAN MODULES

AMIR MAFI*, DLER NADERI, and MOHAMMAD TOHIDI

Communicated by Lucian Beznea

Let (A, \mathfrak{m}) be a commutative quasi-local ring with non-zero identity with infinite residue field and let I be an ideal of A . Let M be an Artinian A -module and $G(I, M)$ be a dual of associated graded module and we denote by $s(I, M)$ the analytic spread of I with respect to M . The dual of Burch's inequality says that $s(I, M) + \inf\{\text{width}(0 :_M I^n) : n \geq 1\} \leq \text{Kdim } M$, and it is well known that equality holds if $G(I, M)$ is co-Cohen-Macaulay. Thus, in that case one can compute the width of dual of the associated graded module I as $\text{width } G(I, M) = s(I, M) + \inf\{\text{width}(0 :_M I^n) : n \geq 1\}$. We study when such an equality is also valid when $G(I, M)$ is not necessarily co-Cohen-Macaulay.

AMS 2020 Subject Classification: 13A30, 13C14, 13E10, 13H10.

Key words: reduction of ideals, Artinian modules, co-Cohen-Macaulay.

1. INTRODUCTION

Throughout this paper, we assume that (A, \mathfrak{m}) is a commutative quasi-local ring (*i.e.* A has exactly one maximal ideal \mathfrak{m}) with non-zero identity and A/\mathfrak{m} is infinite and let M be a non-zero Artinian A -module. For an ideal I of A , Kirby in [5] introduced the following two graded modules dual to the Rees ring and associated graded ring $R(I, M) = \bigoplus_{n=-\infty}^{\infty} R(I, M)_n$, where $R(I, M)_n = M/(0 :_M I^{-n})$ if $n \leq 0$ and $R(I, M)_n = 0$ if $n > 0$, and $G(I, M) = \bigoplus_{n=-\infty}^{\infty} G(I, M)_n$, where $G(I, M)_n = (0 :_M I^{-n+1})/(0 :_M I^{-n})$ if $n \leq 0$ and $G(I, M)_n = 0$ if $n > 0$. Kirby used the two graded modules in the proofs of theorems about the Artin-Rees property and Hilbert polynomials for Artinian modules. Roberts in [10] defined the dual dimension $\text{Kdim } M$ and proved that $\text{Kdim } M = 0$ if and only if M has finite length and $\text{Kdim } M (> 0)$ is equal to the least integer r for which there exists elements $a_1, \dots, a_r \in \mathfrak{m}$ such that $\ell(0 :_M (a_1, \dots, a_r)) < \infty$ (here $\ell(-)$ denotes length)(see also [6]). It is well-known that if I is an ideal of A with $\ell(0 :_M I) < \infty$, then $\text{Kdim } G(I, M) = \text{Kdim } M$ and if $\text{Kdim } M > 0$, then $\text{Kdim } R(I, M) = \text{Kdim } M + 1$. For the proof of these facts see [12].

* Corresponding author

Sharp and Taherizadeh in [11] proved that the two graded modules are very useful in the discussion of reductions and integral closures of ideals relative to an Artinian module. They defined that an ideal J is a reduction of I relative to M if $J \subseteq I$ and there exists nonnegative integer n such that $(0 :_M JI^n) = (0 :_M I^{n+1})$. If J is a reduction of I relative to M and there is no reduction of I relative to M which is strictly contained in J then it is said that J is a minimal reduction of I relative to M . When A/\mathfrak{m} is infinite and $I \subseteq \mathfrak{m}$ is an ideal of A with $\ell(0 :_M I) < \infty$, every reduction of I relative to M contains a minimal reduction of I relative to M and every minimal reduction of I relative to M is generated by a system of parameters for M (see [11, Theorem 6.2]). The least nonnegative integer n such that $(0 :_M JI^n) = (0 :_M I^{n+1})$ for some minimal reduction J of I relative to M is called the reduction number of I relative to M and denoted by $r_J(I, M)$ and the reduction number of I relative to M denoted by $r(I, M)$ and is defined as

$$r(I, M) = \min\{r_J(I, M), J \text{ is a minimal reduction of } I \text{ relative to } M\}.$$

Nishitani in [7] denoted by $\deg(p)$ the degree of the polynomial function $p(i) = \ell((0 :_M I^i \mathfrak{m}) / (0 :_M I^i))$ for any positive integer i . Sharp and Taherizadeh in [11] defined the analytic spread $s(I, M)$ by $1 + \deg(p)$. Indeed, the analytic spread $s(I, M)$ is defined as the minimal number of generators of a (any) minimal reduction of I relative to M . Matlis in [8] defined that a sequence $x_1, \dots, x_n \in \mathfrak{m}$ is an M -cosequence if $0 :_M (x_1, \dots, x_{i-1}) \xrightarrow{x_i} 0 :_M (x_1, \dots, x_{i-1})$ is surjective for $i = 1, \dots, n$. The codepth of M , denoted by $\text{width } M$, is defined as the length of a maximal M -cosequence in \mathfrak{m} . Then it is always true that $\text{width } M \leq \text{Kdim } M$ (see [9]). When the equality holds, it is said that M is co-Cohen-Macaulay. Tang and Zakeri in [13] proved that M is co-Cohen-Macaulay if and only if every system of parameters for M is an M -cosequence (see also [14]). Note that for an ideal I , we use codepth of M by $\text{cograde}_I(M)$ and when $I = \mathfrak{m}$ we use codepth of M by $\text{width } M$.

Nishitani in [7] proved the dual of Burch's inequality

$$s(I, M) \leq \text{Kdim } M - \text{width } (0 :_M I^n) \quad (n \gg 0).$$

The Burch's inequality was given originally in [2, Corollary (i)]. Cheraghi and Mafi in [3] proved that the equality holds if $G(I, M)$ is co-Cohen-Macaulay. On the other hand, Burch's inequality says that for any ideal I ,

$$\inf\{\text{width } (0 :_M I^n), n \geq 1\} + s(I, M) \leq \text{Kdim } M.$$

Hence, if $G(I, M)$ is co-Cohen-Macaulay one can write

$$\text{width } G(I, M) = \inf\{\text{width } (0 :_M I^n), n \geq 1\} + s(I, M).$$

To simplify, we shall call the value $\inf\{\text{width } (0 :_M I^n), n \geq 1\}$ the Burch number of I relative to M and we denote it by $B(I, M)$. Note that, in [3,

Corollary 3.7] Cheraghi and Mafi proved that the width of $(0 :_M I^n)$ have a stable value (see also [1] for stability of depth). In this case, this asymptotic value coincides with $B(I, M)$ but this does not occur in general. In this paper we shall compute for the ideals under some conditions their Burch number and we compute the width of graded module dual to their associated graded modules.

2. THE RESULT

We start this section by the following fundamental lemma which is proved by Tang in [12, Theorem 3.2].

LEMMA 2.1. *Let $x_1, \dots, x_h \in I \setminus I^2$. Then x_1^*, \dots, x_h^* is a $G(I, M)$ -cosequence if and only if x_1, \dots, x_h is an M -cosequence and*

$$(0 :_M I^{n+1}) + (0 :_M (x_1, \dots, x_h)) = (0 :_M (x_1, \dots, x_h)I^n)$$

for all $n \geq 0$, where $x^* = x + I^2$.

LEMMA 2.2. *If $x_1, \dots, x_h \in I$ is an M -cosequence, then*

$$(0 :_M (x_1, \dots, x_i)) + (0 :_M (x_{i+1})) = (0 :_M (x_1, \dots, x_i)(x_{i+1}))$$

for $i = 0, 1, \dots, h - 1$.

Proof. It is clear that

$$(0 :_M (x_1, \dots, x_i)) + (0 :_M (x_{i+1})) \subseteq (0 :_M (x_1, \dots, x_i)(x_{i+1}))$$

for $i = 0, 1, \dots, h - 1$.

To prove the other side we assume $m \in (0 :_M (x_1, \dots, x_i)(x_{i+1}))$ then we have $m(x_1, \dots, x_i)(x_{i+1}) = 0$ and so $m(x_{i+1}) \subseteq (0 :_M (x_1, \dots, x_i)) = x_{i+1}(0 :_M (x_1, \dots, x_i))$ for $i = 0, 1, \dots, h - 1$. Thus there exists $m' \in (0 :_M (x_1, \dots, x_i))$ such that $mx_{i+1} = m'x_{i+1}$. Then $m - m' \in (0 :_M (x_{i+1}))$ and so $m \in (0 :_M (x_1, \dots, x_i)) + (0 :_M (x_{i+1}))$ for $i = 0, 1, \dots, h - 1$, as desired. \square

The following result is a dual of [4, Lemma 3.1]

LEMMA 2.3. *Let x_1, \dots, x_h be elements in $I \setminus I^2$ such that x_1^*, \dots, x_h^* is a $G(I, M)$ -cosequence.*

(a) *If $\text{width}(0 :_M I^2) < \text{width}(0 :_M I)$, then*

$$\text{width}(0 :_M (I^2 + (x_1, \dots, x_h))) = \text{width}(0 :_M I^2).$$

(b) *If $\text{width}(0 :_M I) < \text{width}(0 :_M I^2)$, then*

$$\text{width}(0 :_M (I^2 + (x_1, \dots, x_h))) = \text{width}(0 :_M I) - 1.$$

(c) If $\text{width}(0 :_M I) = \text{width}(0 :_M I^2)$, then

$$\text{width}(0 :_M (I^2 + (x_1, \dots, x_h))) \geq \text{width}(0 :_M I) - 1.$$

Proof. Since the family x_1^*, \dots, x_h^* is a $G(I, M)$ -cosequence, then by Lemma 2.1, x_1, \dots, x_h forms an M -cosequence and we have that $(0 :_M (x_1, \dots, x_i)) + (0 :_M I^2) = 0 :_M (x_1, \dots, x_i)I$ for all $i = 1, \dots, h$. For all $i = 1, \dots, h - 1$, we consider the following exact sequence

$$\begin{aligned} 0 \rightarrow 0 :_M (I^2 + (x_1, \dots, x_{i+1})) &\rightarrow 0 :_M (I^2 + (x_1, \dots, x_i)) \\ &\rightarrow \frac{0 :_M (I^2 + (x_1, \dots, x_i))}{0 :_M (I^2 + (x_1, \dots, x_{i+1}))} \rightarrow 0. \end{aligned}$$

Since

$$\begin{aligned} &0 :_M (I^2 + (x_1, \dots, x_i)) / 0 :_M (I^2 + (x_1, \dots, x_{i+1})) \\ &= 0 :_M (I^2 + (x_1, \dots, x_i)) / 0 :_M (I^2 + (x_1, \dots, x_i)) \cap 0 :_M (x_1, \dots, x_{i+1}) \\ &\cong 0 :_M (I^2 + (x_1, \dots, x_i)) + (0 :_M (x_1, \dots, x_{i+1})) / 0 :_M (x_1, \dots, x_{i+1}) \\ &= ((0 :_M I^2) + (0 :_M (x_1, \dots, x_{i+1}))) \cap (0 :_M (x_1, \dots, x_i)) / 0 :_M (x_1, \dots, x_{i+1}) \\ &= 0 :_M (x_1, \dots, x_{i+1})I \cap 0 :_M (x_1, \dots, x_i) / 0 :_M (x_1, \dots, x_{i+1}) \\ &= 0 :_M (x_1, \dots, x_{i+1})I \cap 0 :_M (x_1, \dots, x_i) / 0 :_M (x_1, \dots, x_{i+1}) \\ &\quad \cap 0 :_M (x_1, \dots, x_{i+1})I \\ &= 0 :_M (x_1, \dots, x_{i+1})I \cap 0 :_M (x_1, \dots, x_i) / 0 :_M (x_1, \dots, x_i) \\ &\quad \cap 0 :_M (x_{i+1}) \cap 0 :_M (x_1, \dots, x_{i+1})I \\ &= (0 :_M (x_1, \dots, x_{i+1})I \cap 0 :_M (x_1, \dots, x_i)) + 0 :_M (x_{i+1}) / 0 :_M (x_{i+1}) \\ &= (0 :_M (x_{i+1})I \cap 0 :_M (x_1, \dots, x_i)) + 0 :_M (x_{i+1}) / 0 :_M (x_{i+1}) \\ &= (0 :_M (x_{i+1})I) \cap (0 :_M (x_1, \dots, x_i) + 0 :_M (x_{i+1})) / 0 :_M (x_{i+1}) \\ &= 0 :_M (x_{i+1})I / 0 :_M (x_{i+1}) \cong (0 :_M I), \end{aligned}$$

for $i = 0, \dots, h - 1$, we have the following exact sequence

$$0 \longrightarrow 0 :_M I^2 + (x_1, \dots, x_{i+1}) \longrightarrow 0 :_M I^2 + (x_1, \dots, x_i) \longrightarrow (0 :_M I) \longrightarrow 0. \quad (\dagger)$$

Assume that $\text{width}(0 :_M I^2) < \text{width}(0 :_M I)$. Then, by applying the width-Lemma (see [9, Proposition 3.16]) to the exact sequence (\dagger) , for $i = 0, \dots, h - 1$, we obtain that $\text{width}(0 :_M I^2 + (x_1, \dots, x_i)) = \text{width}(0 :_M I^2)$ for all $i = 1, \dots, h$, and (a) is proved. Let $\text{width}(0 :_M I) < \text{width}(0 :_M I^2)$. Then, by [9, Proposition 3.16] and (\dagger) for $i = 0$, we obtain that $\text{width}(0 :_M I) = \text{width}(0 :_M I^2 + (x_1)) + 1$. In particular, $\text{width}(0 :_M I^2 + (x_1)) < \text{width}(0 :_M I)$ and by (a) we have now that $\text{width}(0 :_M I^2 + (x_1, \dots, x_i)) = \text{width}(0 :_M I^2 + (x_1)) = \text{width}(0 :_M I) - 1$ for all $i = 1, \dots, h$. This proves (b).

Assume that $\text{width}(0 :_M I) = \text{width}(0 :_M I^2)$. In this case, by taking $i = 0$ in (†) and using [9, Proposition 3.16] we have

$$\text{width}(0 :_M I) = \text{width}(0 :_M I^2) \leq \text{width}(0 :_M I^2 + (x_1)) + 1,$$

then we have the following three cases:

- (i) $\text{width}(0 :_M I) = \text{width}(0 :_M I^2) = \text{width}(0 :_M I^2 + (x_1)) + 1$
- (ii) $\text{width}(0 :_M I) = \text{width}(0 :_M I^2) < \text{width}(0 :_M I^2 + (x_1))$
- (iii) $\text{width}(0 :_M I) = \text{width}(0 :_M I^2) = \text{width}(0 :_M I^2 + (x_1))$

If $\text{width}(0 :_M I^2 + (x_1)) = \text{width}(0 :_M I) - 1$ or $\text{width}(0 :_M I) < \text{width}(0 :_M I^2 + (x_1))$, from (b) it follows that $\text{width}(0 :_M I^2 + (x_1, \dots, x_i)) = \text{width}(0 :_M I^2 + (x_1)) = \text{width}(0 :_M I) - 1$ for all $i = 1, \dots, h$ and in this case we have (c). If $\text{width}(0 :_M I) = \text{width}(0 :_M I^2 + (x_1))$ then, by [9, Proposition 3.16] and (†) for $i = 1$, we have $\text{width}(0 :_M I) \leq \text{width}(0 :_M I^2 + (x_1, x_2)) + 1$. Repeating the above argument if necessary for $i = 2, \dots, h - 1$, we may conclude that $\text{width}(0 :_M I^2 + (x_1, \dots, x_i)) \geq \text{width}(0 :_M I) - 1$ for all $i = 2, \dots, h$. In any case we have $\text{width}(0 :_M I^2 + (x_1, \dots, x_i)) \geq \text{width}(0 :_M I) - 1$ for all $i = 1, \dots, h$ and (c) is proved. \square

Remark 2.4. Sharp and Taherizadeh in [11] proved that the function $f_M : \mathbb{Z} \rightarrow \mathbb{Z}$ defined by

$$f_M(n) = \ell_A(0 :_M \mathfrak{m}I^n / 0 :_M I^n)$$

is a polynomial function. If d denotes the degree of this polynomial function, then $s(I, M) = d + 1$. By the proof of [11, Theorem(4.1) and Corollary (4.2)] and [5], if x is a part of minimal reduction of I relative to M and $\overline{M} = (0 :_M x)$ then $s(I, \overline{M}) = s(I, M) - 1$.

Let M be a co-Cohen-Macaulay Artinian A -module, we say that an ideal I is equimultiple ideal if $\text{cograde}_I(M) = s(I, M)$. For equimultiple ideals with reduction number 1, we may compute the Burch number in the following way:

PROPOSITION 2.5. *Let M be a co-Cohen-Macaulay Artinian A -module and let $I \subseteq A$ an equimultiple ideal with $r(I, M) \leq 1$. Then, $B(I, M) = \text{width}(0 :_M I)$.*

Proof. We use induction on $h := \text{cograde}_I(M)$. Let $J = (x_1, \dots, x_h)$ be a minimal reduction of I relative to M with $(0 :_M I^2) = (0 :_M JI)$. Since $r(I, M) \leq 1$, by Lemma 2.1, the sequence x_1^*, \dots, x_h^* is a cosequence with respect to $G(I, M)$. If $h = 0$, for all $n \geq 2$ one has $0 :_M I^n = M$ and so $\text{width}(0 :_M I^n) = \text{width } M = \text{Kdim } M \geq \text{width}(0 :_M I)$ then we have

$B(I, M) = \text{width}(0 :_M I)$. Suppose that $h > 0$, and let $\overline{M} = 0 :_M (x_1)$. Then, \overline{M} is co-Cohen-Macaulay, $\text{cograde}_I(\overline{M}) = s(I, \overline{M}) = h - 1$ and $r(I, \overline{M}) \leq 1$. On the other hand, for all $n \geq 2$ we consider the following exact sequence

$$0 \longrightarrow 0 :_M I^n + (x_1) \longrightarrow 0 :_M I^n \longrightarrow 0 :_M I^n / 0 :_M I^n + (x_1) \longrightarrow 0$$

where $0 :_M I^n / 0 :_M I^n + (x_1) \cong 0 :_M I^{n-1}$, and hence by [9, Proposition 3.16],

$$\begin{aligned} & \text{width}(0 :_M I^n) \geq \min\{\text{width}(0 :_M I^{n-1}), \text{width}(0 :_M I^n + (x_1))\} \\ & = \min\{\text{width}(0 :_M I^{n-1}), \text{width}(0 :_{\overline{M}} I^n)\}. \end{aligned}$$

By induction on n and h we have $\text{width}(0 :_M I^n) \geq \text{width}(0 :_M I)$ and $B(I, M) = \text{width}(0 :_M I)$. \square

In the sequel we compute the width of the associated graded modules of equimultiple ideals with reduction number 1.

PROPOSITION 2.6. *Let M be a co-Cohen-Macaulay Artinian A -module and let $I \subseteq A$ an equimultiple ideal with $r(I, M) \leq 1$. Then $\text{width}G(I, M) = \text{width}(0 :_M I) + \text{cograde}_I(M)$.*

Proof. The proof is by reduction to the case $\text{cograde}_I(M) = 0$. Put $h := \text{cograde}_I(M)$. Assume that $h = 0$. Then the minimal reduction of I relative to M is 0 and so $(0 :_M I^2) = 0 :_M 0 = M$ and so $G(I, M) = (0 :_M I) \oplus M / (0 :_M I)$. Thus, $\text{width}G(I, M) = \min\{\text{width}(0 :_M I), M / (0 :_M I)\} = \text{width}(0 :_M I)$.

Assume now that $h > 0$, $\overline{M} = 0 :_M (x_1, \dots, x_h)$ and let $J = (x_1, \dots, x_h) \subseteq I$ be a minimal reduction of I relative to M such that $(0 :_M I^2) = (0 :_M JI)$. Then, x_1^*, \dots, x_h^* is a $G(I, M)$ -cosequence and by [12, Lemma 3.1] we have $(0 :_{G(I, M)} (x_1^*, \dots, x_h^*)) \cong G(I, 0 :_M (x_1, \dots, x_h))$. Hence, $\text{width}G(I, M) = \text{width}G(I, 0 :_M (x_1, \dots, x_h)) + h$. Since $\text{cograde}_I(\overline{M}) = s(I, \overline{M}) = 0$ and $r(I, \overline{M}) \leq 1$, we have that $\text{width}G(I, 0 :_M (x_1, \dots, x_h)) = \text{width}(0 :_{\overline{M}} I) = \text{width}(0 :_M I)$ and consequently $\text{width}G(I, M) = \text{width}(0 :_M I) + \text{cograde}_I M$. \square

CORROLARY 2.7. *Let M be a co-Cohen-Macaulay Artinian A -module and let $I \subseteq A$ be an equimultiple ideal with $r(I, M) \leq 1$. Then, $\text{width}G(I, M) = B(I, M) + s(I, M)$.*

Proof. By Proposition 2.5 we have $B(I, M) = \text{width}(0 :_M I)$. Now by using Proposition 2.6 we have $\text{width}G(I, M) = B(I, M) + s(I, M)$, as required. \square

PROPOSITION 2.8. *Let M be a co-Cohen-Macaulay Artinian A -module and let $I \subseteq A$ an equimultiple ideal with $r(I, M) \leq 2$ and $(0 :_M I^2) + (0 :_M J) = (0 :_M JI)$ for any minimal reduction J of I . Then $B(I, M) \geq \min\{\text{width}(0 :_M I^2), \text{width}(0 :_M I) - 1\}$.*

Proof. We prove the proposition by induction on $\text{cograde}_I(M) = h$. Let $J = (x_1, x_2, \dots, x_h)$ be a minimal reduction of I relative to M with $(0 :_M I^n) = (0 :_M JI^{n-1})$ for $n \geq 3$. Since $r(I, M) \leq 2$ and $(0 :_M I^2) + (0 :_M J) = (0 :_M JI)$ by Lemma 2.1, the sequence x_1^*, \dots, x_h^* is a cosequence with respect to $G(I, M)$. If $h = 0$, for all $n \geq 3$ one has $0 :_M I^n = M$ and so $B(I, M) \geq \min\{\text{width}(0 :_M I^2), \text{width}(0 : I) - 1\}$. Suppose that $h > 0$, and let $\overline{M} = 0 :_M (x_1)$. Then, \overline{M} is a co-Cohen-Macaulay ring, $\text{cograde}_I(\overline{M}) = s(I, \overline{M}) = h - 1$ and $r(I, \overline{M}) \leq 2$. On the other hand, for all $n \geq 3$ we have the following exact sequence

$$0 \longrightarrow 0 :_M I^n + (x_1) \longrightarrow 0 :_M I^n \longrightarrow 0 :_M I^n / 0 :_M I^n + (x_1) \longrightarrow 0,$$

where $0 :_M I^n / 0 :_M I^n + (x_1) \cong 0 :_M I^{n-1}$, and hence by [9, Proposition 3.16],

$$\begin{aligned} \text{width}(0 :_M I^n) &\geq \min\{\text{width}(0 :_M I^{n-1}), \text{width}(0 :_M I^n + (x_1))\} \\ &= \min\{\text{width}(0 :_M I^{n-1}), \text{width}(0 :_{\overline{M}} I^n)\} \\ &\geq \min\{\text{width}(0 :_M I^2), \text{width}(0 :_M I) - 1, \text{width}(0 :_{\overline{M}} I^2), \\ &\quad \text{width}(0 :_{\overline{M}} I) - 1\} \\ &\geq \min\{\text{width}(0 :_M I^2), \text{width}(0 :_M I) - 1\} \end{aligned}$$

such that the second inequality follows by induction on n and h and the third inequality follows by Lemma 2.3.

□

THEOREM 2.9. *Let M be a co-Cohen-Macaulay Artinian A -module and let $I \subseteq A$ be an equimultiple ideal with $r(I, M) \leq 2$ and $(0 :_M I^2) + (0 :_M J) = (0 :_M JI)$ for any minimal reduction J of I . Then*

$$\begin{aligned} &\min\{\text{width}(0 :_M I^2), \text{width}(0 :_M I) - 1\} + \text{cograde}_I(M) \\ &\leq \text{width}(G(I, M)) \\ &\leq \min\{\text{width}(0 :_M I^2), \text{width}(0 :_M I)\} + \text{cograde}_I(M) \end{aligned}$$

Proof. We proceed by induction on $\text{cograde}_I(M) = h$. If $h = 0$, one has $(0 :_M I^n) = M$ for all $n \geq 3$ and so

$$G(I, M) = (0 :_M I) \oplus (0 :_M I^2 / 0 :_M I) \oplus (M / 0 :_M I^2).$$

Therefore we have

$$\text{width}(G(I, M)) = \min\{\text{width}(0 :_M I), \text{width}(0 :_M I^2 / 0 :_M I), \text{width}(M / 0 :_M I^2)\}.$$

Consider the following exact sequences

$$(2.1) \quad 0 \longrightarrow 0 :_M I \longrightarrow M \longrightarrow M / 0 :_M I \longrightarrow 0$$

$$(2.2) \quad 0 \longrightarrow 0 :_M I^2 \longrightarrow M \longrightarrow M/0 :_M I^2 \longrightarrow 0$$

$$(2.3) \quad 0 \longrightarrow 0 :_M I \longrightarrow 0 :_M I^2 \longrightarrow 0 :_M I^2/0 :_M I \longrightarrow 0$$

$$(2.4) \quad 0 \longrightarrow 0 :_M I^2/0 :_M I \longrightarrow M/0 :_M I \longrightarrow M/0 :_M I^2 \longrightarrow 0.$$

We show that

$$\begin{aligned} & \min\{\text{width}(0 :_M I), \text{width}(0 :_M I^2/0 :_M I), \text{width}(M/0 :_M I^2)\} \\ & = \min\{\text{width}(0 :_M I^2), \text{width}(0 :_M I)\}. \end{aligned}$$

For this, we have the following three cases:

(i) If

$$\begin{aligned} & \min\{\text{width}(0 :_M I), \text{width}(0 :_M I^2/0 :_M I), \text{width}(M/0 :_M I^2)\} \\ & = \text{width}(0 :_M I), \end{aligned}$$

then by the exact sequence 2.3 and width-Lemma we have

$$\begin{aligned} \text{width}(0 :_M I^2) & \geq \min\{\text{width}(0 :_M I), \text{width}(0 :_M I^2/0 :_M I)\} \\ & = \text{width}(0 :_M I) \end{aligned}$$

and the assertion holds.

(ii) If

$$\begin{aligned} & \min\{\text{width}(0 :_M I), \text{width}(0 :_M I^2/0 :_M I), \text{width}(M/0 :_M I^2)\} \\ & = \text{width}(0 :_M I^2/0 :_M I), \end{aligned}$$

then $\text{width}(0 :_M I^2/0 :_M I) \leq \text{width}(0 :_M I)$. In fact we can assume that $\text{width}(0 :_M I^2/0 :_M I) < \text{width}(0 :_M I)$. If this is not hold, then $\text{width}(0 :_M I^2/0 :_M I) = \text{width}(0 :_M I)$ and by the previous case the assertion holds. Therefore by the exact sequence 2.3 and width-Lemma we have

$$\begin{aligned} \text{width}(0 :_M I^2) & \geq \min\{\text{width}(0 :_M I), \text{width}(0 :_M I^2/0 :_M I)\} \\ & = \text{width}(0 :_M I^2/0 :_M I) \\ & = \text{width}(0 :_M I^2). \end{aligned}$$

(iii) If

$$\begin{aligned} & \min\{\text{width}(0 :_M I), \text{width}(0 :_M I^2/0 :_M I), \text{width}(M/0 :_M I^2)\} \\ & = \text{width}(M/0 :_M I^2), \end{aligned}$$

then we can assume that

$$\text{width}(M/0 :_M I^2) < \min\{\text{width}(0 :_M I), \text{width}(0 :_M I^2/0 :_M I)\}.$$

On the other hand, by the previous case the assertion holds.

Therefore $\text{width}(M/0 :_M I^2) < \text{width}(M)$ and by width-Lemma $\text{width}(0 :_M I^2) = \text{width}(M/0 :_M I^2) - 1$ and this is contradiction by applying width-Lemma on the exact sequence 2.3. Thus we have

$$\text{width}(G(I, M)) = \min\{\text{width}(0 :_M I^2), \text{width}(0 :_M I)\}.$$

Suppose that $h > 0$, and let $J = (x_1, x_2, \dots, x_h)$ be a minimal reduction of I relative to M with $(0 :_M I^n) = (0 :_M JI^{n-1})$ for $n \geq 3$. Since $r(I, M) \leq 2$ and $(0 :_M I^2) + (0 :_M J) = (0 :_M JI)$, by Lemma 2.1, the sequence x_1^*, \dots, x_h^* is a cosequence with respect to $G(I, M)$. Then by [12, lemma 3.1]

$$0 :_{G(I, M)} (x_1^*, x_2^*, \dots, x_h^*) \cong G(I, (0 :_M (x_1, x_2, \dots, x_h)))$$

and

$$\text{width}(G(I, M)) = \text{width}(G(I, (0 :_M (x_1, x_2, \dots, x_h)))) + h.$$

Let $\overline{M} = 0 :_M (x_1, x_2, \dots, x_h)$, then \overline{M} is co-Cohen-Macaulay, $\text{cograde}_I(\overline{M}) = s(I, \overline{M}) = 0$ and $r(I, \overline{M}) \leq 2$. Then by induction hypothesis we have

$$\text{width}(G(I, M)) = \min\{\text{width}(0 :_{\overline{M}} I^2), \text{width}(0 :_{\overline{M}} I)\} + h.$$

By Lemma 2.3, if $\text{width}(0 :_M I) > \text{width}(0 :_M I^2)$, then

$$\text{width}(G(I, M)) = \min\{\text{width}(0 :_M I^2), \text{width}(0 :_M I)\} + h$$

and if $\text{width}(0 :_M I) \leq \text{width}(0 :_M I^2)$, then

$$\text{width}(G(I, M)) \geq \min\{\text{width}(0 :_M I^2), \text{width}(0 :_M I) - 1\} + h.$$

□

Acknowledgments. We would like to thank the referee for a careful reading of the manuscript and for providing helpful suggestions. The work of D. Naderi has been supported financially by Vice Chancellorship of Research and Technology, university of Kurdistan under research Project No. 99/11/19299.

REFERENCES

- [1] M. Brodmann, *The asymptotic nature of the analytic spread*. Math. Proc. Cambridge Philos. Soc. **86** (1979), 35–39.
- [2] L. Burch, *Codimension and analytic spread*. Proc. Cambridge Philos. Soc. **72** (1972), 369–373.
- [3] F. Cheraghi and A. Mafi, *Reduction of ideals relative to an Artinian module and the dual of Burch's inequality*. Algebra Colloq. **26** (2019), 113–122.
- [4] T. Cortadellas and S. Zarzuela, *Burch's inequality and the depth of the blow up rings of an ideal*. J. Pure and Appl. Algebra **157** (2001), 183–204.
- [5] D. Kirby, *Artinian modules and Hilbert polynomials*. Quart. J. Math. (Oxford) **24** (1973), 47–57.

- [6] D. Kirby, *Dimension and length for Artinian modules*. Quart. J. Math. (Oxford) **41** (1990), 419–429.
- [7] I. Nishitani, *On the dual of Burch's inequality*. J. Pure and Appl. Algebra **96** (1994), 147–156.
- [8] E. Matlis, *Modules with descending chain condition*. Trans. Amer. Math. Soc. **97** (1960), 495–508.
- [9] A. Ooishi, *Matlis duality and the width of a modules*. Hiroshima Math. J. **6** (1976), 573–587.
- [10] R. N. Roberts, *Krull dimension for Artinian modules over quasi local commutative rings*. Quart. J. Math. (Oxford) **26** (1975), 269–273.
- [11] R. Y. Sharp and A. J. Taherizadeh, *Reductions and integral closures of ideals relative to an Artinian modules*. J. London Math. Soc. **37** (1988), 203–2018.
- [12] Z. Tang, *On certain graded Artinian modules*. Comm. Algebra **21** (1993), 255–268.
- [13] Z. Tang and H. Zakeri, *Co-Cohen-Macaulay modules and modules of generalized fractions*. Comm. Algebra **22** (1994), 2173–2204.
- [14] Z. Tang and G. Zhu, *Co-Cohen-Macaulayness of certain graded Artinian modules*. Comm. Algebra **27** (1999), 89–104.

Received May 28, 2018

A. Mafi
University of Kurdistan
Department of Mathematics
P.O. Box: 416, Sanandaj, Iran
a.mafi@ipm.ir

D. Naderi, University of Kurdistan
Department of Mathematics
Sanandaj, Iran
Dler.naderi65@gmail.com

M. Tohidi
Payame Noor University
Department of Mathematics
P.O. Box: 19395-3697, Tehran, Iran
mohamadtohidi@yahoo.com